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QUESTION 1

A new application needs to store data in encrypted object storage and the organization already uses Key 

Protect in IBM Cloud. 

What needs to be created to use Key Protect with IBM Cloud Object Service? 

A. API key 

B. 1AM group 

C. Access group 

D. Authorization 

Correct Answer: D 

 

QUESTION 2

To analyze historical data from the Watson loT Platform, the data must be downloaded from the Cloudant Database into
which format before uploading to Watson Analytics? 

A. CSV 

B. XML 

C. TXT 

D. JSON 

Correct Answer: D 

 

QUESTION 3

Studying analytics data in order to improve team outcomes occurs during which phase of the IBM Cloud Garage
Method? 

A. Code 

B. Learn 

C. Think 

D. Improve 

Correct Answer: B 

 

QUESTION 4
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Which statement is true regarding microservices? 

A. They are scaled as a group when greater performance is needed 

B. They are an architecture style based on loosely coupled applications 

C. They are able to overlap responsibilities to provide better availability 

D. They are designed with a focus on combining unrelated tasks in one process 

Correct Answer: B 

 

QUESTION 5

A Node.js application needs to be deployed first on a staging environment to be tested before it is deployed to
production environment . Using the Delivery Pipeline, two Deploy stages were created, one called "DeployToStag"
targeting staging environment and the other called "DeployToProd" targeting production environment. 

On running the DeployToStag stage it ran successfully while on running the DeployToProd stage it failed 

with the following error: 

"The route myapp.mybluemix.net is already in use" 

Which command in the Deploy script for the DeployToProd stage can fix the error? 

A. Option A 

B. Option B 

C. Option C 

D. Option D 
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Correct Answer: D 
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